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R ma | BT R | B2 | e | e | B2 | BT e | B2 | T | & |
’ 100kN/ Mm% % -l -~ - -|3mZEi#BZ5 -~ - - —| 100kN/mM%#8% % - -~ - -|3m&xHZ5 -~ - - -
s 1.00/0.00 ~ 6.32 79.49| =hLls 000 ~ 0.00| 1.61 8.61 s 1.00] 500 ~ 7.85 7949 =hlst | 500 ~ 7.85| 1.61 8.61
9 100kN/mM##8 %% 1.00]0.00 ~ 0.21 103.06| 3m%*#BZx % -~ - - —| 100kN/mM%Z#BZ % 1.00] 12.66 ~ 13.55 103.06| 3m%#BZ % -~ - - -
s 1.00/0.21 ~ 7.99 100.00f Z=h st |0.00 ~ 7.99] 1.93 10.34 s 1.00] 5.00 ~ 12.66 100.00| =hList | 500 ~ 13.55] 1.93 10.34
3 100kN/m%# 2 % 1.00{0.00 ~ 1.32 120.01|3m%EBZzB| - ~ - - —| 100kN/m%i#B 2% 1.00( 11.06 ~ 15.33 120.01|3m%E#B2 % -~ - - -
s 1.00]1.32 ~ 9.11 100.00f Z=h 4t |0.00 ~ 9.11] 2.56 13.71 s 1.00] 5.00 ~ 11.06 100.00| =h L4t | 500 ~ 15.33] 2.56 13.71
A 100kN/m%# 2 % 1.00/0.00 ~ 1.86 128.64|3m%EBZzB| - ~ - - —| 100kN/m%i#B 2% 1.00( 11.45 ~ 18.41 128.64| 3mEH 25 -~ - - -
s 1.00]1.86 ~ 9.65 100.00f Z=h st |0.00 ~ 9.65| 2.62 14.03 s 1.00] 500 ~ 1145 100.00| =hList | 500 ~ 1841 262 14.03
5 100kN/m##8 %% 1.00{0.00 ~ 3.58 157.85|3m%x#%%[0.00 ~ 045 3.25 17.39| 100kN/m#%#B 2% 1.00] 10.60 ~ 34.90 157.85|3m%x# x5 25.00 ~ 34.90( 3.25 17.39
s 1.00]3.58 ~ 11.36 100.00f ZhLlst | 045 ~ 11.36| 3.00 16.05 s 1.00] 5.00 ~ 10.60 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
6 100kN/m##B %% 1.00{0.00 ~ 3.46 155.71|3m%x#%%[0.00 ~ 045 3.25 17.38| 100kN/m#%#8 2% 1.00] 10.60 ~ 32.19 155.71|3m%x# x5 25.00 ~ 32.19 3.25 17.38
s 1.00]3.46 ~ 11.24 100.00f Zh st | 045 ~ 11.24] 3.00 16.05 s 1.00] 5.00 ~ 10.60 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
7 100kN/mM##B %% 1.00{0.00 ~ 3.24 151.94|3m%x#%%(0.00 ~ 0.14 3.07 16.44| 100kN/m#%#B 2% 1.00] 10.61 ~ 34.75 151.94|3m%x#2Z 5[ 30.00 ~ 34.75[ 3.07 16.44
Lo 1.00{3.24 ~ 11.03 100.00f Z=hlst |0.14 ~ 11.03] 3.00 16.05 Lo 1.00] 5.00 ~ 10.61 100.00| =hList | 500 ~ 30.00f 3.00 16.05
100kN/MZ#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhs ~ Lot ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhs ~ Lot ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ st ~
100kN/mMZ#8Z % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhs ~ zhs ~ st ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ zhs ~ ZhLst ~
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100kN/M%#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/mMZ#8Z % ~ 3mEHEADS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ zhst ~ ZhLst ~ |
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